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Flun 6173 quaretwiss Accl Asyr: Beasn ON, Lasar OFF FAun 6173 quarnetwise, ISba1 Asym: Baam ON, Lasar DFF
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Fun 6173 quanetwise, ISba2 Acym: Baam ON, Lasar OFF FAun 6171 quanetwise, DSba1 Asym: Baam O, Lasar DFF
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3 I USbg1 Asym (ppt): 1.95 +/- 2.25
= USbg2 Asym (ppt): 2.13 +/- 1.51
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- Side Finger Asym (ppt): 1.12 +/- 1.11
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Run 6173, quartetwise: USbg1 vs time

Run &173, quartetwise: DSbg1 vs time
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Run &173, quartetwise: vertFing vs time
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Run 6173, quartetwise: LUSbg2 vs time
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Run 6173, quartetwise: horizFing vs tima
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